

FACTORIZING A MATRIX QUADRATIC POLYNOMIAL

CHRISTOPHER S. WITHERS AND SARALEES NADARAJAH

(Received 25 February, 2013)

Abstract. Let A_1, A_2 lie in $\mathbb{C}^{r \times r}$ and t in \mathbb{C} . For the matrix quadratic polynomial,

$$I + A_1 t + A_2 t^2 = (I - \alpha_1 t)(I - \alpha_2 t),$$

we give explicit solutions for (α_1, α_2) in $\mathbb{C}^{r \times r}$. We consider two cases: i) A_1 and A_2 commute; ii) A_1 and A_2 do not commute.

1. Introduction

Consider the quadratic equation: $ax^2 + bx + c = 0$, where a, b and c are real numbers. It is well known that its solutions are $x = (1/(2a))\{-b \pm \sqrt{b^2 - 4ac}\}$. Here, we consider the problem of factorizing and inverting a matrix quadratic polynomial (Gohberg *et al.*, 2009). Matrix quadratic polynomials have applications in many areas. We mention: exact analysis of production lines with no intermediate buffers (Papadopoulos and Okelly, 1993); packet delay analysis for cellular digital packet data (Massey and Srinivasan, 1997); analysis of a finite FIFO buffer in an advanced packet-switched network (Krieger *et al.*, 1998); analysis of edge waves (Fu, 2002); truncation and augmentation of level-independent QBD processes (Latouche and Taylor, 2002); MAP/M/c queues with constant impatient time (Choi *et al.*, 2004); analytical study of non-linear transport across a semiconductor-metal junction (Peres, 2009); approximations to quasi-birth-and-death processes (Beuerman and Coyle, 1989; Latouche and Ramaswami, 1993; Bean and Latouche, 2010); analysis of semi-infinite periodic structures (Fallahi and Hafner, 2010); and, dynamic element vibration analysis (Gupta and Lawson, 2010).

Consider the matrix quadratic polynomial:

$$Q(t) = I + A_1 t + A_2 t^2 = (I - \alpha_1 t)(I - \alpha_2 t) \quad (1.1)$$

for $t \in \mathbb{C}$, where $I = I_r$ is the identity matrix in $\mathbb{C}^{r \times r}$. We seek α_1, α_2 such that

$$\alpha_1 + \alpha_2 = -A_1, \quad \alpha_1 \alpha_2 = A_2. \quad (1.2)$$

In fact, the factorization in (1.1) will hold if and only if we have $\alpha_1 + \alpha_2 = -A_1$ and $\alpha_1 \alpha_2 = A_2$. In particular, if $A_1 = 0$, we have $\alpha_1^2 = \alpha_2^2 = -A_2$. So, when $A_1 = 0$, the factorization exists if we can obtain a square root for A_2 .

Sections 2 and 3 give solutions to (1.1) when A_1, A_2 do and do not commute. To the best of our knowledge, the results in the short note are new and original. Higham and Kim (2000) did consider solutions of $I + A_1 T + A_2 T^2 = 0$ for A_1, A_2, T in $\mathbb{C}^{r \times r}$. However, they did not provide any analytical result except to show that the solutions can be represented as a Schur decomposition, see their Theorem 3.

Higham and Kim (2000) mainly provided various numerical techniques for solving $I + A_1T + A_2T^2 = 0$. A problem of inverting $Q(t)$ in (1.1) using a matrix power series representation is considered in Section 4.

2. A Solution when A_1, A_2 Commute

Theorem 2.1 gives solutions to (1.1) when A_1, A_2 are $r \times r$ matrices that commute and have the same Jordan block structure. Since they commute they have common left and right eigenvectors, say

$$A_j = L\Lambda_j R^*,$$

where $LR^* = I$.

Theorem 2.1. *If both Λ_j are diagonal (for example, if both A_j have distinct eigenvalues) then (1.1) has solution*

$$\alpha_1, \alpha_2 = L \left(-\Lambda_1 \pm D^{1/2} \right) R^* / 2, \quad (2.1)$$

where $D = \Lambda_1^2 - 4\Lambda_2$. Otherwise, we can write

$$\Lambda_j = \text{diag} (J_{m_i}(\lambda_{ji}), 1 \leq i \leq p), \quad \sum_{i=1}^p m_i = r, \quad J_m(\lambda) = \lambda I_m + U_m, \quad (2.2)$$

where $(U_m)_{ij} = \delta_{i+1,j}$ and $J_m(\lambda)$ denotes the Jordan blocks, where $\delta_{ai} = 1$ or 0 for $a = i$ or $a \neq i$. Then (1.1) has solution

$$\alpha_1, \alpha_2 = \left(-A_1 \pm \delta^{1/2} \right) / 2$$

with

$$\delta = L\Delta R^*, \quad \delta^{1/2} = L\Delta^{1/2}R^*, \quad (2.3)$$

where

$$\begin{aligned} \Delta &= \text{diag} (\Delta_{m_i}(\lambda_{1i}, \lambda_{2i}), 1 \leq i \leq p), \\ \Delta_m(\lambda_1, \lambda_2) &= J_m(\lambda_1)^2 - 4J_m(\lambda_2) = a_0 I_m + \epsilon, \\ \epsilon &= a_1 U_m + U_m^2, \quad a_0 = \lambda_1^2 - 4\lambda_2, \quad a_1 = 2\lambda_1 - 1, \end{aligned}$$

and

$$\begin{aligned} \Delta^{1/2} &= \text{diag} \left(\Delta_{m_i}^{1/2}, 1 \leq i \leq p \right), \\ \Delta_m^{1/2} &= a_0^{1/2} (I_m + a_0^{-1} \epsilon)^{1/2} = \sum_{k=0}^{\infty} \binom{1/2}{k} a_0^{1/2-k} \epsilon^k = \sum_{i=0}^{m-1} \gamma_i U_m^i, \\ \gamma_i &= \sum_{i/2 \leq k} \binom{1/2}{k} a_0^{1/2-k} a_1^{2k-i}. \end{aligned}$$

For $\delta^{1/2}$ in (2.3) to exist, one must have $a_0 \neq 0$ for every Jordan block $J_m(\lambda)$ of A_j .

Proof: Since A_1, A_2 commute (1.1) has solution

$$\alpha_1, \alpha_2 = \left(-A_1 \pm \delta^{1/2} \right) / 2, \quad \delta = A_1^2 - 4A_2.$$

So, if both Λ_j are diagonal then (2.1) follows. Otherwise, (2.2) holds and the Jordan blocks commute since

$$J_m(\lambda_1) J_m(\lambda_2) = \lambda_1 \lambda_2 I_m + (\lambda_1 + \lambda_2) U_m + U_m^2 = J_m(\lambda_2) J_m(\lambda_1).$$

So, (2.3) follows. The proof is complete. \square

3. A Solution when A_1, A_2 do not Commute

To find a solution in this case, suppose that α_2 has diagonal Jordan form: $\alpha_2 = L\Lambda R^*$, where $\Lambda = \text{diag}(\lambda_1, \dots, \lambda_r)$. By (1.2), we seek $\alpha = \alpha_2 \in \mathbb{C}^{r \times r}$ satisfying $\alpha^2 + A_1\alpha + A_2 = 0$, that is, $L\Lambda^2 R^* + A_1 L\Lambda R^* + A_2 = 0$, that is, $L\Lambda^2 + A_1 L\Lambda + A_2 L = 0$. Write $L = (L_{ij})$ and consider first the case when the Jordan form is diagonal, $\Lambda = \text{diag}(\lambda_1, \dots, \lambda_r)$, with $\{\lambda_j\}$ distinct.

Theorem 3.1. *The (i, j) element in $L\Lambda^2 R^* + A_1 L\Lambda R^* + A_2 = 0$ is*

$$L_{ij}\lambda_j^2 + A_{1ia}L_{aj}\lambda_j + A_{2ia}L_{aj} = 0,$$

where we use the tensor summation of implicit summation of the repeated subscript a over its range $1, 2, \dots, r$. That is,

$$M_{ia}(\lambda_j) L_{aj} = 0,$$

where

$$M_{ia}(\lambda) = \delta_{ai}\lambda^2 + A_{1ia}\lambda + A_{2ia}.$$

That is, $M(\lambda_j)L = 0$. But $\det(L) \neq 0$ so that $\{\lambda_j\}$ are the roots of $\det M(\lambda) = 0$. The left hand side is a polynomial of degree $2r$ in λ with roots $\lambda_1, \dots, \lambda_{2r}$ say. We can choose a subset of r of them, say $\{\lambda_{n_j}\}$ with corresponding right-eigenvectors $\{l_{n_j}\}$ in $N_r = \binom{2r}{r}$ ways. For each of these N_r choices we have a different solution

$$\Lambda = \text{diag}(\lambda_{n_1}, \dots, \lambda_{n_r}), \quad L = (l_{n_1}, \dots, l_{n_r}), \quad R^* = L^{-1}$$

for $\alpha_2 = L\Lambda R^*$, $\alpha_2 = -A_1 - \alpha_1$.

Next, we consider the case when $M(\lambda_j)$ has K_j Jordan blocks, say $J_{m_{jk}}(0) = U_{m_{jk}}$ for $k = 1, \dots, K_j$ and $j = 1, \dots, 2r$.

Theorem 3.2. *For each j and $k = 1, \dots, K_j$, there exists a non-trivial vector l_{jk} such that $M(\lambda_j)l_{jk} = 0$. We have $K = \sum_{j=1}^{2r} K_j$ solutions, $\binom{\lambda}{l} = \binom{\lambda_j}{l_{jk}}$, to $M(\lambda)l = 0$. We can choose r of them to form $L \in \mathbb{C}^{r \times r}$ in $\binom{K}{2r}$ ways. This then is the number of solutions α_2 to (1.2). The case $K = 2r$ only holds if $K_j \equiv 1$, that is, if for $j = 1, \dots, 2r$, $M(\lambda_j)$ has only one Jordan block with an eigenvalue zero.*

In Theorem 3.1, we have assumed that $M(\lambda_j)l_j = 0$ holds for $j = 1, \dots, 2r$ with each l_j a non-zero vector in \mathbb{C}^r . In Theorem 3.2, we have assumed that the vectors l_{jk} , $k = 1, \dots, K_j$ are linearly independent for each j .

Example 3.1. *Suppose that $r = 2$. Then $\lambda_1, \dots, \lambda_4$ are the roots of*

$$0 = \det M(\lambda) = \lambda^4 + \lambda^3 \text{trace}(A_1) + \lambda^2 (\det A_1 + \text{trace}(A_2)) + \lambda [A_1, A_2] + \det A_2,$$

where $[A_1, A_2] = A_{111}B_{222} - A_{112}B_{221} - A_{121}B_{212} + A_{122}B_{211}$.

4. Inversion of $Q(t)$

Here, we consider inverting $Q(t)$ given by (1.1). For example, if

$$\sum_{n=0}^{\infty} x_n t^n = Q(t)^{-1} = (I - \alpha_2 t)^{-1} (I - \alpha_1 t)^{-1} \quad (4.1)$$

then

$$x_n = \sum_{n_1+n_2=n} \alpha_2^{n_2} \alpha_1^{n_1} = \sum_{n_2=0}^n \alpha_2^{n_2} \alpha_1^{n-n_2}. \quad (4.2)$$

So, if α_i commute then

$$x_n = (\alpha_1 - \alpha_2)^{-1} (\alpha_1^{n+1} - \alpha_2^{n+1}).$$

More generally, if $Q(t)$ is a polynomial, how can the partial fraction expansion for its inverse be obtained when $r > 1$? For $r = 1$ see, for example, Gradshteyn and Ryzhik (2000).

By (1.1), $Q(t) = F_1(t)F_2(t)$, where $F_i(t) = I_r - \alpha_i t$, so that $Q(t)^{-1} = F_2(t)^{-1}F_1(t)^{-1}$, and x_n is given by (4.2). We can get a compact solution if we can find matrices X , Y such that

$$Q(t)^{-1} = XF_1(t)^{-1} + F_2(t)^{-1}Y. \quad (4.3)$$

This would give the coefficient of t^n in (4.1) simply as

$$x_n = X\alpha_1^n + \alpha_2^n Y. \quad (4.4)$$

Multiplying (4.3) on the left by $F_2(t)$ and on the right by $F_1(t)$ gives $I_r = F_2(t)X + YF_1(t)$, that is, $X + Y = I_r$, $\alpha_2 X + Y\alpha_1 = 0$, that is,

$$\alpha_2 X + (I_r - X)\alpha_1 = 0,$$

that is, $X\alpha_1 - \alpha_2 X = \alpha_1$. We now show how to solve the more general equation

$$XA + BX = C, \quad (4.5)$$

where $A, B, C, X \in \mathbb{C}^{r \times r}$, using the vec operator. Write

$$\begin{aligned} X &= (x_1, \dots, x_r), \quad A = (a_1, \dots, a_r), \quad C = (c_1, \dots, c_r), \\ \text{vec } X &= x = (x'_1, \dots, x'_r)', \quad c' = (c'_1, \dots, c'_r) = (\text{vec } \alpha_1)' \in \mathbb{C}^{r^2}, \\ Xa_j &= \left(\sum_{k=1}^r X_{ik} A_{kj} \right) = E_j \text{vec } X, \quad E_j \in \mathbb{C}^{r^2 \times r^2}, \quad E = (E'_1, \dots, E'_r)' \in \mathbb{C}^{r^2 \times r^2}. \end{aligned}$$

Given $a \in \mathbb{C}^r$, we can write

$$(Xa)_i = \sum_{k=1}^r X_{ik} a_k = f'_i \text{vec } X,$$

where $f'_i = (a_1 e'_{i1}, \dots, a_r e'_{ir}) \in \mathbb{C}^{1 \times r^2}$ and e_i is the i th unit vector in \mathbb{C}^r . This proves Theorem 3.1.

Lemma 4.1. *Let e_i be the i th unit vector in \mathbb{C}^r . For $a \in \mathbb{C}^r$, $X \in \mathbb{C}^{r \times r}$,*

$$Xa = F(a)' \text{vec } X,$$

where $F(a) = (f_1, \dots, f_r) = (a_i e_j) \in \mathbb{C}^{r^2 \times r}$.

Lemma 4.2. Set $G_i = F(a_i)'$, $G(A) = (G'_1, \dots, G'_r)'$. Then,

$$XA = (Xa_1, \dots, Xa_r) = (G_1x, \dots, G_rx), \text{ vec } (XA) = G(A) \text{ vec } X.$$

Lemma 4.3. Let $BX = (Bx_1, \dots, Bx_r)$. Then,

$$\text{vec } (BX) = d(B)\text{vec } X,$$

where $d(B) = \text{diag}(B, \dots, B)$.

Theorem 4.1. A solution of (4.5) is given by

$$\text{vec } X = [G(A) + d(B)]^{-1} \text{vec } C, \quad Y = I_r - X. \quad (4.6)$$

Proof: Taking vec of (4.5) gives $[G(A) + d(B)]\text{vec } X = c$. \square

Golub and Van Loan (1996, page 372) suggest a different type of solution when $X \in \mathbb{C}^{m \times n}$ and A, B are square with diagonal Jordan forms.

Consider arbitrary $x, c \in \mathbb{C}^s$, $G \in \mathbb{C}^{s \times s}$ for some $s \geq 1$. Does $Gx = c$ have a solution if $\det(G) = 0$? The answer is yes, provided that a certain condition holds, but the solution is not unique. Let $G = L\Lambda R^*$ be its Jordan form and set $y = R^*x$. Consider the case when this Jordan form is diagonal. Then we can write $\Lambda = \text{diag}(\mathbf{0}, \Lambda_2)$, $\Lambda y = \begin{pmatrix} 0 \\ \Lambda_2 y_2 \end{pmatrix} = d = \begin{pmatrix} d_1 \\ d_2 \end{pmatrix}$, where $\mathbf{0}$ is square, and $d = R^*c$. So, a solution exists provided that $d_1 = \mathbf{0}$, and in this case y_1 is arbitrary, and $y_2 = \Lambda_2^{-1}d_2$. This can be applied to (4.6) with $s = r^2$, $G = G(A) + d(B)$.

Corollary 4.1. A solution of (4.3) is given by (4.6) with $A = C = \alpha_1$, $B = \alpha_2$, $Y = I_r - X$. So, a solution of (4.1) is given by (4.4).

An extension of (1.1) to a general polynomial: It is not clear how this can be achieved for $r > 1$. If $r = 1$, $\{\alpha_i\}$ are distinct, and $Q(t) = \prod_{i=1}^I (1 - \alpha_i t)$. Then, by Gradshteyn and Ryzhik (2000),

$$Q(t)^{-1} = \sum_{i=1}^I H_i (1 - \alpha_i t)^{-1},$$

where

$$H_i = \prod_{j \neq i} (1 - \alpha_j / \alpha_i).$$

However, even for $I = 2$, it is not clear how to solve

$$Q(t)^{-1} = \sum_{i=1}^I H_i (I_r - \alpha_i t)^{-1}$$

for $\{H_i\}$.

References

- [1] N. Bean and G. Latouche, *Approximations to quasi-birth-and-death processes with infinite blocks*, Advances in Applied Probability, **42** (2010), 1102-1125.
- [2] S. L. Beuerman and E. J. Coyle, *State space expansions and the limiting behavior of quasi-birth-and-death processes*, Advances in Applied Probability, **21** (1989), 284-314.
- [3] B. D. Choi, B. Kim, and D. B. Zhu, *MAP/M/c queue with constant impatient time*, Mathematics of Operations Research, **29** (2004), 309-325.

- [4] A. Fallahi and C. Hafner, *Analysis of semi-infinite periodic structures using a domain reduction technique*, Journal of the Optical Society of America A—Optics Image Science and Vision, **27** (2010), 40-49.
- [5] Y. B. Fu, *Analysis of edge waves using a Stroh-like formulation*. In: Proceedings of the Fourth International Conference on Nonlinear Mechanics, (2002) pp. 434-439.
- [6] I. Gohberg, P. Lancaster, and L. Rodman, *Matrix Polynomials*, SIAM, Philadelphia, 2009.
- [7] G. H. Golub, and C. F. Van Loan, *Matrix Computations*, third edition. John Hopkins University Press, Baltimore, 1996.
- [8] I. S. Gradshteyn and I. M. Ryzhik, *Tables of Integrals, Series and Products*, sixth edition. Academic Press, New York, 2000.
- [9] K. K. Gupta and C. L. Lawson, *A progressive simultaneous iteration solution for dynamic element vibration analysis*, Proceedings of the Royal Society A—Mathematical Physical and Engineering Sciences, **466** (2010), 459-470.
- [10] N. Higham and H. -K. Kim, *Numerical analysis of a quadratic matrix equation*, IMA Journal of Numerical Analysis, **20** (2000), 499-519.
- [11] U. R. Krieger, V. Naoumov and D. Wagner, *Analysis of a finite FIFO buffer in an advanced packet-switched network*, IEICE Transactions on Communications, **E81B** (1998), 937-947.
- [12] G. Latouche and V. Ramaswami, *A logarithmic reduction algorithm for quasi-birth-death processes*, Journal of Applied Probability, **30** (1993), 650-674.
- [13] G. Latouche and P. Taylor, *Truncation and augmentation of level-independent QBD processes*, Stochastic Processes and Their Applications, **99** (2002), 53-80.
- [14] W. A. Massey and R. Srinivasan, *A packet delay analysis for cellular digital packet data*, IEEE Journal on Selected Areas in Communications, **15** (1997), 1364-1372.
- [15] H. T. Papadopoulos and M. E. J. Okelly, *Exact analysis of production lines with no intermediate buffers*, European Journal of Operational Research, **65** (1993), 118-137.
- [16] N. M. R. Peres, *Analytical study of non-linear transport across a semiconductor-metal junction*, European Physical Journal, **72** (B) (2009), 183-191.

Christopher S. Withers
 Applied Mathematics Group
 Industrial Research Limited
 Lower Hutt,
 New Zealand

Saralees Nadarajah
 School of Mathematics
 University of Manchester
 Manchester M13 9PL,
 United Kingdom
 Saralees.Nadarajah@manchester.ac.uk